Order of Operation "

Positive and Negative Whole Numbers (A)

Class:

‘ Directions: Show your work step by step. Use your solution to solve the maze.

Start End
6+ (3—6) 1-6x 2 (-15 + 5)2 83—
2 -1 2
-2 A 1" / 9 X 1
5 (4 — 3) (10 — -2) = -2 12-U+6 (-7 — 6) = -1
35 3 2
42 % 0 KX -3 k -20
3+4x6 8+-2-2 -4 x -4 — 2 5(3-7)

27
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Positive and Negative Whole Numbers (A)

Class:

‘ Directions: Show your work step by step. Use your solution fo solve the maze.

Start End
6+ (3—6) 1—6x 2 (-15 = 5)2 8+ (-3—1)
6+ -3 1=12 (-3)2 8+ -l
-2 -1 9 2
2 -1 2
5(-4 - 3) (10 — -2) = -2 “12-4+6 (-7 — -6) = -1
5(-7) 19 =2 3+6 A+ o
-35 6 3 1
35 3 2
42 % 0 KX 3 X 20
3+U4x6 8+2-2 X Al — 2 5(3—7)
3+ 24 -2 6 —2 5 (-4)
27 2 L) -20
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